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Run 5460 quartetwise, PosHalAccO/NSamplas
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=== Laser O -—
Entrie=: 63554
Mean: 14. 2060 «/- 00044
Sbd Dz 117130+ 00031

=== Lager OFF ---
Entrie=: 26045
Mean: 14974 « 00014
Sid Dhey: 02227 = 00070

Run 5460 quartatwize, Diffs)

=== Laser O -—
Entries: 625594
Mean: -0.6136 «- 00019
Sid Dhey: 04714 =~ 00073

=== Laser OFF ---
Eniries: 26045
Mean: -0.0037 <« 0001 E
Sid Dhey: 02452 - 000711

s

Run 5460 quartetwise, Asyms(

=== Laser ON -—
Entries: 635594
Mean: -30 987% +/- 0.07148
Sid Dev: 179756 +/- LOG0E

=== Laser OFF ---
Entries: 26045
Mean: -0.14146 «/- 0LOETS
Sid Dey: 9.3489 - 00470
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Run 5460 quartetwize, NegHalAcc/NSamplas0
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=== Laser O -—-
Entries: 62554
Mean: 1600176 &= 000047
Sid Dhev: 1.1823 - 000X

=== Lager OFF ---
Entrie=: 26045
Mean: 15001 «- 0.0014
Sid Deyv: 02256 &~ 00070

Run 5460 quartatwize, Sums0

=== Laser O -—-
Entries: 625594
Mean: 29,2226 /- 000590
Sid Dev: 22474 - 00064

== Laser OFF ---
Enlries: 268045
Mean: 29984 +/- 0.0023
Sid Dev: 03752 &~ 00016
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Run 2460 quartetwise, PosHelAccd
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— Lassar OFF —
Erlne: JE04E
Masn: TE13840] S50F) =0 1334181
g Dre: 24TTI0 B0ME +/- TOZLRER12
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Run 5460 quartatwise, Diffsd

— Lasar O —
tnlnen: B350
Mann: 258050 4560 «- 3250 0340
S Ohire: TIPS DT« TM1.0350

— L OFF —
tnlne: 2804%
Maan: -7 1480125 « - 202
0d Dre: 2 HLEDDE +/- 1510L2491T
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Run 5460 quartetwise, Asymsd

=== Laser ON -—
Entries: 635594
Mean: -31.2956 +/- 0.0647
Sid Dev: 161036 +/- L0457

=== Laser OFF ---
Entries: 26045
Mean: -0.0887 «- LO2ET
Sid Drey: 4.302F - 00159
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Run 5460 quartetwize, NegHalAcc4
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Magn: 431577818150 +- 1918 2138
22 Dwra: 3811330 0038 &0 DE0E.MD

— Lussar OFF —
Erlnea: 2H04Y
Main: TEITT SRS - TRET ARG
S (Dire: 2461 5L 1446 +'- TOET. 553
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Run 5460 quartatwise, Sums4

— Ly 0% —
trlnen: G154
Main: B 2145170200 +- ITITETTIY
S Drire: G264 B 08T 0 TS GE

— Lumar OFF —
trlnen: 20045
Main: T3 A4 = 21E1.5758
S Dhire: JIZNA30T3 +~ THZETEF
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Run 5460 quartetwise, Asyms USbg?
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Run 5460 quartetwize, Asyms Dsbg1

=== Laser O -—
Entrie=: 63554
Mean: -0.0050 «- 0001 E
St Dhey: 04545 -~ 00073

=== Lager OFF ---
Entrie=: 26045
Mean: -0.0108 «/- D002E
Sid Dhey: 04488 - 00020

=== Laser O -—
Entries: 625594
Mean: -0.0064 «/- 0UO0DE
Sbd Dhev: 31337 &8 0.0004

=== Laser OFF ---
Eniries: 26045
Mean: -0.0062 «/- 0LO0DE
Sid Dey: 001334 - 00006

Run 5460 quartetwise, Asyms Horiz Fingar

o[ . .

=== Laser ON -—
Entries: 635594
Mean: -0.0087 < L0013
Sid Drey: 03627 = 00070

=== Laser OFF ---
Entries: 26045
Mean: -0.0049 - 00032
Sid Dey: 0.5146 - 00023
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Run 5460 quartetwize, Asyms USbg2

=== Laser O -—-
Entries: 62554
Mean: -0.0069 «- 00012
Sid Dhew: 03042 &0 000G

=== Lager OFF ---
Entrie=: 26045
Mean: -0.0058 «- 00015
Sid Dhev: 03020 &~ 00073

1 l;l 1 —nﬂ.ﬁplzhﬂ 1
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Run 5460 quartetwise, Asyms DSbg2

=== Laser O -—-
Entries: 625594
Mean: -0.006849 «- 0000E
Sid Dev: 01216 &&= 0003

== Laser OFF ---
Enlries: 268045
Mean: -0.0)67 «/- 0O00E
Sid Dev: 01215 - 0.0005

Run 5460 quartetwise, Asyms Vert Finger

1 1.5

0.5

=== Laser O -—-
Entries: 625594
Mean: -0.0054 «- 00011
Sid Deyv: 02663 - 0.0000

== Laser OFF ---
Enlries: 268045
Mean: -0.0026 «- 00022
Sid Dev: 03551 - 00016
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Run 5460 quartetwize, posHE vs time
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Run 5460 quartetwize, USbgl ve time Run 5460 gquartetwize, USbg2 ve time

— T
G0 —
— &
— =
500 — L oL L T )
wol— . . . __ L. o o_ — == i oD I = /=
wof— — —- — —_— = = —— = — == = 0= T = = ——
mofF= T T — - — - —— = — == = e —
T — - - - —— = — == = —I— I — = ——
|'-'| __I L ﬁ I_I 1 I L L L I L L 1 I 1 L L I L 1 L I 1 I_I I_ L L 1 I L I_ 1 I:':1I:" 1 L L -I L -I L 1 I- I L L L I L L T I L I_ I- I L L L I 1 L -I- -
il 20 40 &l By 100 1230 140 180 180

k3
Hod B
-
=
[
=
7]
=
=
-
2
-
-
E

T

(S

E’ .
2500 f— S 3000 [+ L
= 2500 = B = ISEE = =
2000 = = = = Ee=s= = =
= 2000 = Ei = iE= E =
= = R T OEE TET e FE R
- _:_ s -
— 1000 —
500 — [
- S0 —
gl i ool 20 yE1o o GE oy 1y §21 0 FE Loy sy )y 8 1E S e’ =5 S S U | R I D EPRI -1 EAPRN- N RS N R S |
a 20 &0 an 00 120 140 160 180 a 20 40 &l a0 100 120 140 TE0

Run 5480 quaretwizse, variFing vs timea Run 5460 quanetwize, horizFing vs tima

= g —
— S 1oon —
e j: -
800 - i B T . . - : A E-— o y ST L. LI o I :
500 = - = - I I ... s - - = C — = =t == = = =
E - - /- DI -—— - Z— — - IZ— = BOfF— == —- = = = -
.1.|:-|:|_= e . _ e e . - _ — E——— [ — —_— = _
mpE— — —- — - —_ - — = M — == I = = =
— —- — - — = —— = o= = == == = = —
L -I__I -I _-I I_I- _I- L _-I_-- _-I I- _I-_I 1 I- --I_I-_I I_.I---I.- 1 _I--I _I_ L I__I-.-- L -I- 1 I:':1|:". l:l [ 1 1 L I L --I .I -I L 1 ;- I L L L -I L L -I- -I L L L I- 1 L -I. I-
20 40 1K 11K 100 130 140 180 180 [i] 20 40 (1M 21K 100 140 180




